RS — B TRl a— 2]

B B A+ - 4F 44118138 (H) NEH =25
BHAE ) 7 HK BN 86 A (B TTA - &iE:9AN)
HDCP LR - 36 T80 4T3 kU FRE—  (PAR+3)
fELA—1: & OCOEDAO B @R@ED® 1/ 1
[FNEALHRTE © Ffis (FmWIE) FNR . &f 44E11A 138 (H)
NEGL. | BE4 i ] GROSS | HDCP | NET (ke JEfL BN 4 i [} GROSS | HDCP | NET fii %
et S 3 — 43 49 92! 22.8| 69.2 51 fir [4f wm 41 42 83 7.21 15.8
AR FFE 38 40 78 8.4 69.6 52 L iRAE B 44 45 891 13.21 175.8
<3 F B 38 42 80 9.6 70.4 53 i { L B =B 41 40 81 4.8 176.2
C 4 il T BE 43 40 831 12.0] 71.0 54 f | AF FH 54 50 104] 27.6; 76.4
: 5%. B FnigE 39 38 77 6.0 71.0 55 f | A fiE 44 42 86 9.6 76.4
"6 (L iRE 39 43 82 10.8] 71.2 56 {7 | il B fth 44 42 86 9.6 76.4
T ER K 40 42 82 10.8] 71.2 5T fir it xR H= 41 44 85 8.4/ 176.6
T8 frakia FEC 39 43 82| 10.8] 71.2 58 fif i X% BT 48 48 96| 19.2| 76.8
9 (T I& R T 40 40 80 8.41 171.6 59 {i PidEA AR 50 46 96| 19.2| 76.8
110 i iEEE P 42 42 84! 12.0] 72.0 (60 _fri Ka T 48 42 90| 13.21 176.8
11 {7 |8 —= 41 42 83 10.81 72.2 61 {7 | Lk 3kt 49 46 95 18.01 177.0
12 {v | B H B 43 39 82 9.6] 72.4 62 i {1RIK TEH 45 44 89 12.0}  77.0
13 (7| L8 BiE 42 45 87| 14.41 72.6 63 {7 | HHIY 8 A 51 50 101 24.01 77.0
14 {ir [ H BE 44 43 87 14.41 72.6 64 {v | Tjk % 39 44 83 6.0/ 77.0
(15 fd &8 42 45 871 14.4]1 72.6 65 (| iR A i 42 46 88| 10.8 1771.2
16 {7 i X8 Fik 41 39 80 T3] 79.8 66 {ir | PF i 42 45 87 9.6] 177.4
17 {7 (&% EHE 45 41 86 13.21 72.8 67 {7 Pk B 42 50 92 14.4] T77.6
18 v i (a1l #HE 44 41 85 12.01 73.0 68 fr i F A 45 47 92| 14.4] 77.6
1947 Tk BB 38 46 841 10.8| 73.2 69 {F | FEFAAR WX 49 54 103] 25.2{ 77.8
(20 fUN R JL% 46 44 90| 16.8) 73.2 L0 ATA A IE 49 48 97| 19.2} 77.8
21 {7 |& mF 40 44 84| 10.8] 73.2 11 i ik%E & 44 47 91| 13.21 T71.8
22 i ik EF 44 46 90 16.8] 73.2 72 {r it%)| 2= 49 48 971 19.21 71.8
23 {7 1B IF— 43 40 83 9.61 73.4 73 {1 FE 45 52 97 19.2] 77.8
24 {7 | A 39 38 77 3.6] 73.4 T4 {7 [ EfE Bk 51 46 97| 19.21 77.8
(25 fip tEI B 41 47 88! 14.4| 73.6 75 (v | FEE E AL 41 49 90| 12.0f 78.0
26_fir | MM EH— 35 41 76 2.41 73.6 76 v | EE)] EF 44 45 89 10.8] 78.2
27 O TN E 40 47 871 13.21 173.8 TT A7 I RERF P& 52 52 104 25.21 78.8
28 Qi {4k FopE 45 42 87] 13.2] 173.8 78 {7 | W 47 44 91| 12.0! 79.0
29 (i dmch FEL 46 46 921 18.0] 74.0 79 {7 {Hp = 51 43 94| 14.41 79.6
130 (iR GH 41 50 91| 16.8] 74.2 80 {ir.i KN M 45 42 87 T.20 79.8
31 ff | BEF Tif+ 39 40 79 4.8| 74.2 81 {r | BFFt 4 48 50 98 18.01 80.0
32 LTI % 42 42 84 9.6 74.4 82 fr B A0 e 47 48 95 13.21 81.8
33 {ir Tk A 46 44 90! 15.61 74.4 83 i il @Il— 50 56 106] 21.61 84:4
34 {7 [HHT E% 53 49 1021 27.6] 74.4 84 {7 (WH WE 49 45 94 9.6 84.4
35 frd A 45 39 84 9.6 74.4 85 {irdEnth 8 51 53 104 18.0! 86.0
36 (7 | TFE i 44 46 90| 15.6| 74.4 86 (i iF2A& +id 51 59 110] 22.81 87.2
37_fir L ngE 1% 41 48 89! 14.4| 74.6
38 {ir A K u# 40 43 83 8.4 74.6
39 {r ) E— 39 43 82 7.21 74.8
40 (T RIR F K 45 42 87 12.0] 75.0
AT (7 (| ——= 45 42 871 12.0] 75.0
42 fr fEK (BE 43 44 87, 12,01 75.0
43 i | ;i ] 49 50 991 24,01 75.0
44 v A B2 T 47 46 931 18.0] 75.0
45 i FEE 46 a7 931 18.0! 75.0
46 i | PERE PR 39 42 81 6.01 75.0
AT {7 iHnepE g 43 43 86! 10.81 75.2
48 {7 @Y mF 40 45 85 9.6{ 75.4
49 {7 o2& HEZ 44 41 85 9.6 75.4
N ENCE T 44 39 83| 7.21 5.8
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BL&E—A: B O@OOO B O3@EO® /1
FUENZRE :  FEfih (@B FORI : 40 44119138 (A)
NEAE SINHEA [} ] GROSS | HDCP | NET = [[={Da ZINE4L i) 2] GROSS | HDCP | NET %
B P2 AR PEAT 43 41 84| 14.4| 69.6 41 fir HEfE B+ 42 43 85 9.6] 75.4
R A — 3 | 43 86| 14.4] 716 42 {7 | PR F 12 | 43 85| 9.6| 75.4
3 hr it %oia 48 43 91| 19.2] 71.8 43 {7 | WBSF EHE 47 44 91| 15.6| 75.4
L4 fLiED BE 46 45 91} 19.2{ 71.8 44 fir | E% —3L 41 43 84 8.4 175.6
(5 fi)&E $¥— 44 47 91| 19.2] 71.8 (45 firy k@ 5= 16 44 90| 14.4| 75.6
6 A DA R 42 41 83| 10.8] 72.2 46 fir | VB fEAE 46 43 89| 13.2] 75.8
T LRE 43 52 95| 22.8] 72.2 47 L B+ BB 16 47 93| 16.8| 76.2
C8 P FRIR K 43 40 83| 10.8] 72.2 48 fir | #HE AL F 47 46 93| 16.8] 76.2
9 fLIAMEE ¥AT 45 43 88| 15.6] 72.4 49 i | K'F FEAER 49 54 103| 26.4] 76.6
(0 fi e ¥ 49 45 94| 21.6| 72.4 50 fig /i B 51 51 102| 25.2| 76.8
11 fif [T B 47 46 93 20.4| 72.6 51 fi | 4R [ 46 49 95{ 18.0] 77.0
12 fir |4« AR Foie 40 47 87| 14.4| 72.6 52 [ | i L 50 45 95, 18.0| T77.0
13 fiL | KA #E 39 46 85! 12.0f 73.0 53 fir | @# T|A 46 42 88! 10.8] 77.2
14 47 | A L 40 44 84| 10.8| 73.2 54 fif | =i M 48 46 94| 16.8] 77.2
(15 (D bk #iE 44 46 90| 16.8| 73.2 (55 fiLd v K #3X 49 50 99 21.6] 77.4
16 {ir (FkIL B4 43 47 90| 16.8] 73.2 56 fir | ol SeiA 49 49 98] 20.4| 77.6
17 fif | KiR 3LiE 45 44 89| 15.6| 73.4 57 {ir | §iiB F=—5R 48 50 98| 20.4| 77.6
18 {ir [ KFM {5 36 41 77 3.6| 73.4 58 fif | IAfr HEF 51 52 103] 25.2| 77.8
19 {7 | #54 AHS 44 44 88| 14.4| 73.6 59 fir | Jiligy —3k 48 49 97, 19.2| T77.8
(20 D PEE T 38 43 81, 7.2 73.8 (60 fr) vofr tEmg 47 55 102| 24.0] 78.0
21 fir | H 1 44 48 92¢ 18.0| 74.0 61 {ir | T/ SCHk 49 51 100f 21.6] 78.4
22 fif | =if H%H 46 45 91, 16.8, 74.2 62 fir | B #H1H 40 42 82 3.6, 78.4
23 {ir | KB 44 46 90| 15.6] 74.4 63 i | & HF 42 45 87 8.4 78.6
24 fir Ky #® 46 44 90 15.6] 74.4 64 if | H¥E B 52 58 110} 31.2] 78.8
25 (i} KB #7RR 38 45 83| 8.4] 74.6 (65 fir)Bs L #RiT 48 44 92| 13.2| 78.8
26 {7 /N FE 42 47 89| 14.41 74.6 66 {7 | At HE 53 53 106 26.4! 79.6
27 {7 [Pl dEiA 42 40 82 7.21 74.8 67 {i7 | FEHR F 40 48 88 8.41 79.6
28 (L | KE & 44 50 94| 19.2{ 74.8 68 i | miffE (84T 48 52 100 20.4) 79.6
29 fir |l 2 46 48 94| 19.2| 74.8 69 {7 | At [EHE 49 56 105| 25.2] 79.8
(30 firimgm e 44 44 88| 13.2/ 74.8 770 {0 A s 45 47 92| 12.0/ 80.0
31 L | \IE x5 44 43 87| 12.0 75.0 71 fif | sy e 47 60 107 25.2! 81.8
32 fir | Tk B_ 48 45 93| 18.0/ 75.0 72 fif |8 BT 51 50 101} 19.2{ 81.8
33 fif |\ HiE E£E 43 38 81 6.0{ 75.0 73 L =i SRR 57 54 111| 28.8| 82.2
34 fir | = F N 44 42 86! 10.8] 75.2 74 i | W HHE 51 53 104] 20.4| 83.6
35 fLAFR KB 41 | 39 80| 4.8 75.2 5 il AR Bofn 40 | 49 89| 4.8] 84.2
36 {ir ({£)Il Fn# 43 43 86! 10.8] 75.2 76 {iL | AHE BB 57 59 116f 30.0] 86.0
37 Ll &M@ HF 47 51 98| 22.8] 75.2 7T A B fuA 50 59 109] 22.8| 86.2
38 fir | KB JhF 44 42 86| 10.8] 75.2 78 fif | A EXK 51 59 110] 22.8] 87.2
39 fiL | AR A 45 41 86| 10.8| 75.2 79 L BTEA BE 47 60 107 19.2| 87.8
C40 S0l IEn i 49 | 48 97| 21.6| 75.4 80 {T}E <P 61 62 123| 33.6] 89.4
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BB < 44E11A13A (H) NFEH b= 5T
BT U7 HEL BIMAK : 88N (B4 : TON - ik 9N)
HDCP _E[R : 36 THE 0 T4 : FUZNARF—  (PAR+3)
fRLF—n: B O0O60® D@2BGERE® Gy
RINEALEEE © i (F@VOIIE) ENRI : %0 4585118130 (H)
T ZINE 4 3] th GROSS | HDCP | NET % JEAE ZINE 4 5] el GROSS | HDCP | NET {iii%&
40 39 79 8.4/ 70.6 51 | F#&E EF 45 39 84 7.21 76.8
39 38 77 6.0/ 71.0 52 L | T3 (FF 43 47 90! 13.2: 76.8
42 40 82 10.8] 71.2 53 L |k FEH 45 44 89 12.0]  77.0
40 39 79 7.2] 71.8 54 {if {24 fE— 50 51 101 24.00  77.0
41 44 85 13.2] 71.8 55 (i | HEPY it 47 48 95 18.0] 77.0
43 49 85| 13.2] 71.8 56 i | gmdm 3K 51 44 95! 18.01 77.0
41 43 84! 12.0] 72.0 57 fir it B 53 54 1071 30.0} 77.0
39 38 71 4,81 72.2 58 fir M WA E 45 44 89| 12.0{ 77.0
45 43 88| 15.6| 72.4 59 {ir |it B+ 41 41 82 A.8F. 779
i 38 38 76 3.6 72.4 f6o_fir'| injE 1= 47 46 93| 15.6) 77.4
11 4 fEM IE 44 43 87! 14.4] 172.6 61 fir | 1Lk fE 46 41 87 9.6, 177.4
12 {if { KAR HHE 47 40 87 14.41 72.6 62 {i7 | E/ g HBEL 46 46 92 14.41 77.6
13 {7 | K# AT 42 44 86| 13.2| 72.8 63 {ir { J\3f HHE 46 46 92 14,4 177.6
14 (i 5%k B 40 45 85; 12.0] 73.0 64 {17 | ¥ I 39 46 85 7.2] 771.8
45 (i idEn i 44 4] 851 12.01 73.0 /65 fr} KK B 47 48 95| 16.8} 78.2
16 {7 A K8 44 46 90 16.8] 73.2 66 (r 1A XLFH 50 45 95| 16.8! 178.2
17 {7 [ #R #i—B 36 36 721 . -1.2] 73.2 67 fir BT BEHI 44 45 89 10.8] 78.2
18 {ir | W] 258 4] 42 83 9.6! 73.4 68 ir (&M 5L 49 45 94| 15.6| 78.4
19 fir (S B 40 43 83 9.6 73.4 690 [l H 44 43 87 8.4, 178.6
20 A il FE 38 37 75 1.2 73.8 MO L7 i W 55 E] 43 50 93] 14.4! 178.6
21 O NI FHHE 52 46 981 24,01 74.0 T1 47 BT EE 42 44 86 7,21 78.8
22 i M= B 45 47 921 18.0] 74.0 72 {\f B0 {3k 52 46 98 19.21 178.8
23 fif | KAE #E 43 42 85| 10.8] 74.2 73 7 {MEB ET 50 42 921 13.2¢ 178.8
24 fr |l BT 40 39 79 4.8 74.2 T4 | & T B 54 44 98| 19.21 178.8
25 (D B 46 44 90 15.6] 74.4 ERA RN T 45 47 92| 13.2! 78.8
26 (i | KfE (5= 44 46 90 15.6] 74.4 76_{ir | AR #FE 46 45 91| 12.00 79.0
27 {7 [ {FHRE P 45 45 90 15. 6 74. 4 77T H7 i AR FEE 51 46 97 18.0 79.0
28 {i [{Eji# BE 44 39 83 8.4 74.6 78 {ir | #il NIE 48 49 97| 18.01 79.0
29 {ir i phiR BE 44 44 88 13.2 74. 8 79 {r | EEAR NE— 53 49 102 22.8 79.2
L RIE KR 48 40 881 13.21 74.8 (80 {ip /R —% 55 47 102] 22.8| 79,2
31 v [BE Mfn 39 36 75 0.0 75.0 81 v #ll % 46 49 95 15.61 79.4
32 (i | BpiR 1 44 43 87, 12.01 75.0 82 i {:KH IEF 51 49 100 20.4f 79.6
33 i | KAMR E 51 47 981 22.8] 75.2 83 ([ [~ A Rt 50 50 100 20.41 79.6
34 {ir \[@MA &I 44 41 85 9.6] 75.4 84 fir 1BER #FIE 49 40 89 8.41 80.6
35;,&' NS 41 44 85 9.6 75.4 85 _{ir | {hjE sk 51 44 95 14.4] 80.6
36 07 | KAR (= 48 42 90 14.4] 175.6 86 {7 [ HEHH =¥ 53 45 98! 16.8] 81.2
37 0F | B A E2 49 46 95, 19.21 75.8 87 {if | &l fhrth 55 52 107] 22.8| 84.2
38 (i [thf FaR& 50 51 101! 2521 758 88 (i B %% 58 54 112 27.61 84.4
39 (i (i B R 43 46 89! 13.2] 75.8
A0 ﬁ,_‘? TEXR % 40 43 83 7.2] 75.8
41 {7 S S 45 49 94| 18.0| 76.0
42 {7 | Em HEd 43 45 88! 12.0| 76.0
43 (i [#ik {2 53 46 99! 22.8! 76.2
44 {r (=@ s 45 42 87, 10.8{ 76,2
A5 i FR few 53 51 104 27.6| 76.4
46 T | iR 4 45 47 921 15.6! 76.4
47 {7 (i) R 40 45 85 8.4/ 76.6
48 {7 1$5 A B 56 53 109 32,41 76.6
4907 | KB 5P 49 48 97, 20.41 76.6
(50 W gz 47 43 90} 13.2] 76.8



